Unit 1: Place value within 10,000,000, Lesson 3

Numbers to 10,000,000 @)

I ' Luis, Bella and Jamilla are playing a board game with toy money.

a) This place value grid shows Luis’s money. How much does he have?

M HTh TTh Th H 1 O
o] TS = == ==
e} BT == ==

= == ==
= == ==

ETH == ==

N

==

2 3 2 6 4 7

5
2,000,000 + 300,000 +20,000 + 6,000 + {Loo |+( S0 |+[ 7 =
2,226,657
Luis has £], 226, 457 |-

b) This place value grid shows Bella’s money. How much does she have?

M HTh TTh Th H i & O
==
==
L] ==

=
o
==
==

w0000 |+(000 J+[30 J+[ T]=[350,037)
Bella has £[ 350,027 |.

¢) This is Jamilla’s money. How much does she have?

Jamilla has £| 2. IOO!))\@.
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Unit 1: Place value within 10,000,000, Lesson 3

e Complete the part-whole models.

o Complete the partitions.

a) 8,047=8,000+40+| 7 |

b) 30,429 = 30,000 +| kb0 +ﬁo +[ o ]

¢) 260392 =(200,000 |+[66:000]+(200 |+[a0 |+( 2 ]

d) 8,500+|2=| 3512

e) 720,000 +3,500 +70 +2 = 723,572 |

f) 3,000,000 + 56,000 + 800 + 25 =| 3,054, €29

g) 412 + 4,000,000 + L2, 06 a ]= 4412412

e Complete the sentences.
a) 100 more than 3,098,728 is( 3,09 87

b) 1,000 more than 3,098,728 is| 3679, 724|.

¢) 10,000 more than 3,098,728 is| 2 | 0%, 72

d) | million less than 3,098,728 is | 2,09 | 7281 -

e) 100,000 less than 3,098,728 is | 2 99 &, 7.2¢] -
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Unit 1: Place value within 10,000,000, Lesson 3

6 What is the value of the underlined digit in each number?

a) 7,456,820 c) 3,307,184

7 VY\&U\\GT 1 Chovood
b) 2,768,415 d) 6,000,070

7 Wunetd e Ucond 7 Ee s

! @ What is this number? Is there more than one solution?

N

The number has 7 digits.

The ten-thousands digit is half the ones digit.

The hundreds digit is 3 times the millions digit.
The total of all the digits is 20.

The number is[ j
\

i =

T :
e ML o SO on

| Reflect |
Write two number sentences showing how you can partition 4,508,375 in two
different ways. Compare your sentences with your partner’s. Discuss how
they are the same or different.
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Texfbook 6A 929 Unit 1: Place value within 10,000,000, Lesson 4

Number line to0 10,000,000

I What does each number line go up in?

a)
| | 1 1 | | | L | 1 ]
| | 1 I 1 I I 1 I 1 |
5,000,000 6,000,000
The number line goes up in| 100,000 |s.
b)
' | | 1 l 1 | | 1 | 1 |
I | L} I I ] I I | | |
90,000 100,000

The number line goes up in [ 1000 s.

@ Complete the number lines.

a)

| I |
5400 5,500 5,600

e
—
—
—
—
-l

Soe || §,Poo § 100 [G,C)OO] 6,'00 ]6120‘5]

b)

| | L 1 [l |

— v '
66,310 66320 66,330 (T ) (46 250) (e 70

6 Write in the missing numbers. '

a) 127,520 128,520 129,520 120,520 ||13(,S20 [|132,§26

b) 420,700 520,700 620,700 720,700 ?20,700 F207006

c) 7400 7,300 7,200 7,100 7000 6,700

d) 3,200,000 3,210,000 3,220,000 (3,230,000 |( 2,240,000 |( 2,22 000
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Unit 1: Place value within 10,000,000, Lesson 4

4 What numbers are the arrows pointing to?

=
—

a)
F } l l i ! i l I l —
0 50,000 100,000
b)
%)205,000 B S S'O,c:w]
N
L | | 1 1 | 1 l 1 [ |
I I I I ] I I I ) I L
2,000,000 3,000,00
<)
6o r=
.
e | | | | l | 1 1 | ]
| I I I I I I I I I |
600 700 800
@ Draw arrows from each number to its position on the number line.
a) 815,000 870,000 851,000
[ ] /1 l |A ] ] |
I 1 ) I | ) I I I 1
800,000 900,000
b)
t l ‘
8,000 10,000

16



Unit 1: Place value within 10,000,000, Lesson 4

% The bar chart shows the population of three countries in CHAI.LENGE
" a particular year.

Finland

Bulgaria

Switzerland

| |

o®®

Q
Q0
4100

\
oQ
o0 -
590

()00 000 000

L0007 Q0T o 60

Estimate the population of each country.

a) Finland’s population is about [S,qqologo] .

b) Bulgaria’s population is about 7‘200,000

¢) Switzerland’s population is about |§, £00,000| .

300,000
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Unit 1: Place value within 10,000,000, Lesson 5

» Textbook 6A p24

Comparing and ordering numbers

to 10,000,000

Which number is greater, A or B? Explain your answer.

M HTh TTh Th & O
OO 0 000es eeeee
S e
M HTh TTh Th H i ] O
8@@@@ 000 00eees 66 OO |O
Number _é lis greater, because SO WA\ | Sare 4TTh

Sore TTia

ek Th

9 Complete the number sentences using < or > .

I8

b) 540.000 @ 54,000

540,000 @ 450,000

540,000 @ 540

540,000 @ half a million
540,000 @ 600,000

540,000 @ 3,000,000



Unit 1: Place value within 10,000.,000,Lesson 5 l

Write the letter for each house in order of price. Start with the

least expensive.

_A£370,500 B £429700 C £375,000 B~ £357,905

Least expensive Most expensive

[A) = =

I will compare the digits
in each number, starting
with the 100,000s.

The table shows the masses of four

elephants in a safari park. Elephant Mass

The elephants are fed one at a time, funie G | 58000
in order, starting with the heaviest. Benny (%) | 5,060 kg
: . -
Whlcléelephont is fed third? Cal /0 | 6,050 kg
E -Q 9 . .
LEn f‘j is fed third. Dolly U | 5,006 kg

e Write the following numbers in ascending order.

725,906 728,000 725,960 130007
73,600 | 725,906 =225, G0 728,000
Smallest Greatest
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Unit 1: Place value within 10,000,000, Lesson 5

€ } What could the missing digit be in each number?

Write down all the possibilities.

a) 3,D40<3,27o [ ,, Uss

b) 2 1390 > 25.400 £, 1,8 °

o 2[ ]340 > 24380 k)5,4,7, 89

d) 8,4ql>8,4DG W2 34,5 4)7,18’

e) 8.491.012 > 8,4qo,|oz o

Find the missing digits. Give three different answers.

246,17( 0] < 24(¢, (7 ]o < 246,@ ¢ |5 < 246,400
246.17( ) < 246 )[R0 < 246.[2)(2 )5 < 246.400

./
—
246,172 < 24{5, (7)o < 246,@' 5 < 246,400
C gt i oG e (f

et

‘ ':Reflect

These numbers are in descending order (get smaller): true or false? Explain
your answer. [,

15.600 12,600 12,500 Qo,ooo f)\ 2,000

-

\ 2.0 OO \n \o\(‘\(;\@ /

L J—--J
r /" )_:

‘v’
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Textbook 6A p28 Unit 1: Place value within 10,000,000, Lesson 6

Rounding numbers

G Olivia represents the number 13,672 on a place value grid.

TTh Th H i O

a) Olivia says that to round the number to the nearest 1,000 she needs to
look at the thousands column. Is Olivia correct? Explain your answer.

No sl reodo kv ol ad- ha

hurdtdo  Colume LA

b) Complete the sentences.

13,672 rounded to the nearest 1,000 is l [ 4,000 |.
13,672 rounded to the nearest 100is| | 7, 700 l

@ The arrow points to a number on the number line.

Round the number to the nearest 1,000,000. Explain your answer.

&—

L l | | | |
I | I I I I

6,000,000 7,000,000

The number rounds to | 7, 000,047| because g 1S defes

tb 77,0600, 600 Lo ,CCooe0
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Unit 1: Place value within 10,000,000, Lesson 6

) a) 137,987 rounded to the nearest 100,000 is

147,987 rounded to the nearest 100,000 is
157,987 rounded to the nearest 100,000 is

167,987 rounded to the nearest 100,000 is

b) 57,390 rounded to the nearest 10,000 is

57,480 rounded to the nearest 10,000 is

57,590 rounded to the nearest 10,000 is

57,690 rounded to the nearest 10,000 is

)} Complete the table.

Rounded to the nearest | 128,38l 1,565,900 72,308
100,000 | 00,000 |, 600,006 | 100,000
10,000 120,006 [1,5701000 | 70,00
1,000 VL8 000 || 566000 |12 )
100 (28,400 |1,565200
10 2. %) w80 | 185,900 C

@ Circle the numbers that round to 17,000 to the nearest 1,000.

(75
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17,399

16,099

16,500 )

16,999

17,500

17,098 )




Unit 1: Place value within 10,000,000, Lesson 6 1

|
|

°[|”2 5/ 6||9 \

Use the digit cards to make a number that:

Lov )

sl

4

a) rounds to 15,700 to the nearest 100 15,716 o

b) rounds to 60,000 to the nearest 10,000 | 59,000

¢) rounds to 60,000 to the nearest 1,000. 5°], QSO'

Complete the sentences.

a) 3,607 rounded to the nearest N is 3,610.

b) 11,53|7) | rounded to the nearest 100 is 11,500.

¢) 25,497 rounded to the nearest ’ /é:Q A and

MW ("\\LY\MJ is 1S ,S00| -

d) 25,49 [97 rounded to the nearest 10, 100 and 1,000 is [ 26,000

Reflect

15,782 rounds to 16,000 to the nearest 1,000: true or false? Explain in two
different ways how you know.

€

>0 0
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{ " ! Unit 1: Place value within 10,000,000, Lesson 7 asisiu 6A

Negative numbers

The table shows the temperature in three places in the UK.

Fort William | Leeds Swansea

56 2C 31 e Vo 3

a) The temperature in Fort William increases by 7 °C.

What is the new temperature?

I J°¢

b) How much colder is the temperature in Leeds than in Swansea?
IO I °C

@ Isla and Mo are playing a game. Isla is on “3 and Mo is on 6.

-1 {710 ~8 S|4 "2 [

Mo moves back 7 places. Isla moves forward 10 places. [, -7

How many places ahead of Mo is Isla now?

@ places H ‘

A pipe is 24 metres below ground. A crane lifts the pipe
38 metres upwards.

How many metres above the ground is the pipe now?

metres ,

24 <




o Complete the number lines.

a)
-
.I | | | | | | | |
M ) | | I ! | T
20 °C -I5 c[,,OJ,5 oc[6 ['O]ISC 20 °C
o
b)
16 )(-t2](-8)(-¢])] ° (v [ 9])[12])[¢
c)

-

e A number line is divided into sections.
A B C D E F G H I J K

a) In which section will each of these numbers appear?

7 H I i -5 D

17-5 K <l - D 11 2

o |[to )[20 )[wo][¢o |[ 50 |[too] '° 'uO| °0

b) Write down three numbers that will appear in section B.

- 1y {
- "U - || -1}02 ey -1@ 3 \3 O\ }..: L'J(’_-)‘/'
.

e
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Unit 1: Place value within 10,000,000, Lesson 7

6 What are the values of A and B?
0 A .
L 1 | | | | | | | | | | |
) ) ] 1 ) ) ] ) 1 ] I 1 |

]
ﬁ Z X | Y
l Tx25- (75 »L:"— '©o . 1,
L L 1 - L 1 L1 I \V l l |
| I I I I L) ] ) L A \! U 1 L

a) The difference between X and Y is 100. 0o =Lz 27
What is the difference between X and z? [75

b) If 0 lies half-way between X and Y, what is the value of Z? |- 7.5

9
A g
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